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BB A &N B L 69.0 6.0 75 ( 39 36 )
2 i % 4 B B X 69.2 10.8 80 ( 39 41 )
3 fif B A H f 69.8 19.2 89 ( 46 43 )
4 fi1 K fi# /N 70.2 4.8 75 ( 38 37 )
5 {iI x B & 12 oh 70.2 10.8 81 ( 37 44 )
6 {1 = AN & X BB 70.8 1.2 72 ( 38 34 )
7 fiI H # = & 71.0 6.0 77 (40 37 )
8 fiI ook BOA 71.0 12.0 83 ( 42 41 )
9 fiI B 2 K R 71.0 6.0 77 ( 35 42 )
104 £ H # = 71.4 9.6 81 ( 41 40 )
1547 m B s 72.0 0.0 72 ( 36 36 )
2013 F O &8 2 72.4 9.6 82 (40 42 )
2541 g a T2 72.8 13.2 86 (43 43 )
3011 I\ L & 73.0 12.0 85 ( 44 41 )
35411 =T v I G 2 73.2 10.8 84 ( 41 43 )
4041 H A& X% /& 73.6 20.4 94 ( 51 43 )
4541 H £ F — 73.8 7.2 81 ( 41 40 )
504 85 2 74.0 6.0 80 (40 40 )
604 B X B K BB 74.4 27.6 102 ( 56 46 )
7041 mw T F % 74.8 7.2 82 ( 41 41 )
804z a Jil & 5B 75.4 21.6 97 (49 48 )
9041 B OB E A 75.8 19.2 95 ( 53 42 )
10062 A H sk 75.8 13.2 89 (40 49 )
11062 2k H = & 76.2 10.8 87 ( 43 44 )
12062 W X IE BB 76.6 14.4 91 ( 46 45 )
130 B H =W F 77.2 16.8 94 ( 50 44 )
14067 & B IE & 77.6 20.4 98 ( 46 52 )
150 H & ® Al 78.4 33.6 112 ( 56 56 )
1602 /N B A = 79.2 22.8 102 ( 50 52 )
17007 & = I1E 5h 80.2 16.8 97 (49 48 )
180fz = UE {B — BB 81.0 18.0 99 (49 50 )
BBE A JIIl = — 85.0 36.0 121 ( 58 63 )
BGE B N & KX EB 72 ( 38 34 )
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